EARAROBREBRT —5 XN—ZXBISH—F

20235128198 (A) 19@IER4H

’\‘\3\17% S3UT U5R2m ‘ (iRl B ‘ (eEwm - | 5 15000 KB
[xE%] 1% :550,000H  23&:176,000 @  3#&:88,000 M  43#&:66,000H  53&:55,000 M
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1 3| FRADNUT— 8 2 éﬁz{%ﬁﬁ'u 1:(3_8).0 1-1-1-1 [39.3] - 1 o %ggz (&R)
RFRIAYL—Y B:IY/ TPV (-2) ~ RESREIFARISMEGRT
< 3 LHEE : -3-2- - EH—E (&R
) )| L—vO¥ 4 2 ol 1.(33%.7 3-3-2-2 |39.7 3 zzg? pasc]
RiZRIAVL—Y B:IhD—)LROE LIRS
2R NS st 2 | PHEELE 1:39.9 6-6-6-4 | 40.5| — 6 | 411 |BEEZ &R
3 6| MLE—IV>2Z 54.0 ®) 1) ST5y 7 RRIAVE W)
RiR—TEI B:R—F v L AALIALT7— 1
= - f2 | RRXE 1:40.1 2-2-2-5 |41.1| — 4 | 465 |fEEEER (&R
4|55 |=2ARE/TZ 54.0 ) (o) | BRI
RIXAVRATERTwY &A1 —X BIE7 7—LA
<, e — plIEEZ S :40. ~4-4- . - MR (&R
5 Y 4| FYNTY=L w2 by | e > e
RINNVTSY BiUAR7 A BE &
<~ N~ o s 2 | BUIES 1:43.3 5-4-4-6 | 44.2| — 2 | 408 |PIHZ @R
6111 (ALY T 5.0 (545) Lo | KTHIE
RALYISYIE BARYIINTF BE &
@ 11— —BRIEfL
13—7F— 3,5.2,4,1,6
20—7+— 3,5,2,(1,4),6
BEIES /S 3,2,5,0,4).6
40—7F— 3,2,4,6,5,1
0 ILRE
BB 3 1508 | | 914K 2-3 1609 B E 2-3 250 3ER 2-3-6 670/
B B 3 130 3-6 3204 o= 3-2 3204 3Es 3-2-6 1,340
2 180M 2-6 490M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




